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Q 1 (a) Multiple Choice Question any Eight .: t, .: . ' , , ' ,r 
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1. Debt equity ratio is the better.

al Higher bl Lower cl Profitabiliry dl Liqpi{ity- ... , { r. :.; +j . I ,vJ sr:r.F-R-,c1 i.j.,. I \) "j1. i:i +". ...-

2. The ideas of seleoting securities in a portfolio based on,st)gffislbnt"pftori'e.ifuioryoflhi(

djl:Weighted

mtlS;limite{ br very low in Gambling as compared to Investment

(7j

'i: .:"{,i',,

'1,0..Risk

]..!./\' v"' ],1 :'
.i- \!' .l " I" i.

.;: ! 

" 

. 
"'

,"' ,,, .,i-..'
. . i:i .r,.

. i . . ,1 ......
. .., j ;.- ' ...:

EF'73D36864 128377 7 A2C06F08D3A843?

Page 1 of4

al Wiltiam Sharpe bl Harry Markowitz cl

3. The market risk refer to the variability in the

swings and market down swings.

aJ Price

4.A.
bl profit
is simply a

frame.

al Table

5. An
bl Diagram

primary

al Sideward bl Positive cl
6. The graphical version of the

L Analysis
a) Fundamental

9. Beta reflects

average

.t'.{ -.':_;.'.:.- 
'

net worth

l"Asiets and physical assets.

transaction costs such as commission and

a security.

risk that might be present.

Return are one and same.

on regression.
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OR
Q2) (b) Given below are the likely returns in case of shares'of Frasad ttd and Pqpjp Ltd in the

various economic conditions, both the shares are presently quoted at Rs 250 per share. , (15)

for the Yearending 3'1 /03/20 I 8'. :::
&.Loss Alc

..i

FJAq{

Companies x Lrd. Y Ltd. r.'#.fitttr.,r
Sales [Rs.l 7,20.000 1s.00.000 2,0o,000
Variable Cost Per unit 20 1s0 2

Fixed Cost 1,44,000 2,S0.00.d 30;000
Output (units) 12.000 3,000 ',20i000,

Interest 80,000 '1, 0,000., ,tI$IL
Income-Tax Rate 30% 30Va" 30Yo'
No of equity shares 20a0 .'":":;.:8:0.00 :r' ::'" ' 1000'

ECONOMIC
CONDITIONS

PROBABILITY "1. :,[191;11 [ffi.99::
.,, fsoJAi$TD

Hish Growth 0.25 .,: ',: .-.1;}$,' ; ;, i.:l :ii ":. ,;, ..:'.,-,.fM 
-

Low Growth 0.25 :; ,"' ,:i'',,. ,15,S,

Stasnation 0.30 .:' ' ,i 100

Recession Ql?l0' tr"90 70

Liabilities ."Rs;,' Assets Rs.
Equity Sharb:C"..apitalrfHs;I 00 .Eachl'' .3i2G000: F'ixed.Assets 7.36.000
I0% Prefereoce Share- Capital i;1r.r.ig0;000. Trade Investment 24,404
General,Hes6ri;'e,',: .-,.2,40;000 Stocks 1"44"000
8%, Deb'b"r*dlsis'. ;':': . 2;4ojo0o" .Debtors 56,000

S und..ry rCldffisrs j: .1{.; :',,'. '' 
70.00.0 Bills Receivable 32,044

'Other Curent liabilities -r50j'000 Cash & Bank Balance 8,000
Total .tr0;00;000 Total 10,00,000

Paiticulars Rs. Particulars Rs.
Tp Openini.Stock 96.000 By Sales 15.84.000

3.20.000 By Closins Stock 1,44,000
,To-r'wa$eir...;r'..,i* ;i,i.".;, . l.,tj:-t - 4,00.000
To Maryfacturipfr , Pyp*r*3 2,40,000
To A'dfr t{stration Experlses 2,72,004
Tlo Sellihs & Distilbution,'Expenses 2.40.000

;,f,S-iffatPr"ofi"t' 1,60,000

folal' 1?.28.000 Total 17.28.000
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Q2) (a)Calculate the degree of operating leverage, degree of financial
combined leverage & Earning Per Share for the following

Which of the

Mr Rohan has
D

ii)
.,:
.!.. ..

.' ;
e of the above two shares for

0.20,0.10 foriii)

Q3) (a)

varl0us

Balance



Converting to vertical statement need not be required

'following information : - (8)

1)

z)

Risk free return may be taken at 14a/^.You are required to calculate:-

i) Expected Rate of return of Portfolio in each case using CAPM
,i ir)' ,,, Ave-riige Return of Portfolio

:

' 67,012,' ' :..,'.,

PERIOD , REflJR$SOF
MARETT.

::- PORTT,'OL"{0""6,
1

2 ,..'))' 2$t: :,
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4 ..', ..?1.. . :
-,,,-,,L,1 .- 16

5 ' .1'g l0
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;1 -1,7 i; -6
19 , 5

,1,i*,",";" , '9., 
" 6

10 "'2A 11

MARI(ET
PRICE AT

THE END OF
YEAR

BETA RISK
FACTOR

.'' €erneritttdi,, ,!$. ,, :' 2 50 0.8

'!,Stde['IJ&]'.' -:35, 2 60 0.7
.Diritro-TJdAi:-.:i" .:..45. 2 r35 0.5

.':'ft.61"9:jffi*il': :,': :;'m0-0-,. ua I 005 0.01
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You are required to calculate the followins Ratio's
l1l Current Ratio [2] Proprietary Ratio [3] lnventory Tumover Ratio
Average collection period [6] Receivable Turnover Ratio L7)

Note:- Assume AII sales are on credit basis

OR

Q3) (b) Distinguish between CML and SML

Q3) (c) Explain the difference types of investors

Qa) (a) The rates

CAPM?

ofreturns for security X lio for.10 periods are"givep'l
.i:r'i: .' -:, ....". ,... r'.,:... - .: .:.."1/: .l '.
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Q4) (c) Calculate the beta factor of the following investment. Is acceptancq ofthe iiwesErrent

worthwhile based upon the level of risk? The risk free rate may be taken at 6Y1 (7,

PROBABILITY MARKET RETURNS ON
o/o

U3 9 ,6.
U3 t2
1i3 18 . 1911,,., .,.r-.t.,t 

'..:._,r-

" (8)

'' ,, i,*

Q5) (a) What is technical analysis? Explain its Rrinciples

Q5) O) Discuss types of charts used in technical *q"t!|ql.,

OR

" :(7)

(1s)Q5) (c) write Short note: (Any Three)

1. Security market line

2. Arbitrage pricing theory
:.'' '1.- ,''

3. Advantage of portfolio management

4. Portfolio Evaluation .

,it - ''
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